r = 2 atan2(V(P<?+P,?),P,) / aperture
0 = atan2(P,,Py)
X =r cos(8)
y =r sin(6)
3D vector to 2D fisheye

—

—

2D fisheye to 3D vector

¢ =r aperture / 2
8 = atan2(y,x)

Normalised fisheye coordinates

3D vector to longitude/latitude longitude/latitude to 3D vector
longitude = atan2(Py,Py) Py = cos(latitude) cos(longitude)
latitude = atan2(P,,V(Px*+P,?)) P, = cos(latitude) sin(longitude)
P, = sin(latitude)

Normalised Equirectangular coordinates z A P(x,y,2)

x = longitude / 1t
o XY) y = 2 latitude / T
3D vector to 2D equirectangular

________________________ L > —

latitude

-1 —

2D equirectangular to 3D vector
longitude = x 11
latitude =y 11/ 2
Py = cos(latitude) cos(longitude)
Py = cos(latitude) sin(longitude)
P, = sin(latitude)




